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Geometry Fall 2015

Per: ____ Name: K-sz

‘ Unit 1 Review - TransformatlonJ\

Identify the type of transformation the rule represents. Use the given rule to dctermme the image of (2, -
4) and the pre-image of (0, 3). (Sketching a graph may help you.)

1. Ti(x,y) > (x+5,y—6) Transformation Name: Tﬁ‘” b /A 4-{ ® 4

Image of (2, -4) is ( 2 ) ~! O)

2. Rt (X, ¥) 2 (x,-y)

Image of (2, -4) is (lljz )

3 RY: (X, Y)'é ("X, Y)
Image of (2, -4) is

4. Ry=x: (x, ) 2 (v, X)
Image of (2,-4) is

5- ﬂ‘)oz (X, Y) 9 ('ys X)
Image of (2, -4) is

(7 X)
6. R-got (x,¥) 2 (-y, X)

Image of (2,-4) is L LTV!* ZJ

Transformation Name: R{"F/ -£_ <—’ILn‘ N

Transformation Name: R-e, ¥ ’—Q.. c..-H onN

_(271).  Preimageof(o,8)is _(© 3

Transformation Name: Re.”[’ { €. C'{-l Oﬂ -

). Pre-image of (0, 3) is 23
Transformation Name: ,QC“ '{—Q +/ 0/

(4 ! 7—! . Pre-image of (0, 3)15_[_)_)_

Transformatlon Name:

Pre-image of (o 3)is _ | f }

& ] (] A \".-l '/
7. Do, w: (x,y) 2 (V2x, sz) Transfqormation Name: ! j ! a2 ; :
=) ) (L )
- Pre-image of(o 3) is 938 - N

Image of (2, -4) is

8. Do, 2: (x,¥) 2 (2x, 2x) Transformation Name: i-f ; ' i + ’3 A

Image of (2,-4) is

9. Do,-1: (x,¥) 2 (-x, -y

Image of (2, -4) is

en4).

l—j J_g ; Pre-image of (0, 3) is '/D‘ [ S

"o L]

[P 1 !
) Transformation Name: Lo ""f \

= i R —
Pre-image of (0, 3) is (- —S’z q’l T ”{{‘
|
. 'r
Pre-image of (0, 3) is (o) ,Q - f;:%_ﬁ
HENEERES
141 i
f) “CM‘ (‘/1 L
Lt |14

Pre-image of (0, 3) is (; {

EEEN

You may use the coordinate plane to determine each of the following. Identify the type of transformation

and determine the image. Give your answer for the ima

Transformation Type Image

10T: A>(x+3,y-5) | Tlans [qﬁo/\ .C_I_Jﬂ
11. Re: B2 () ﬂQ_‘F{{C"{IDV\ (‘115’

12. RpC>(,.)

13. Ry=x: D> (L)

}( 210N (H.~7)

14. Ryo:E2 (';l,‘_‘f)

ge as a coordinate point.

o le,d/cor\ (OJ»,S/) A LR

T 1 1

Ko’ha%lor\

15. Roo: F > ({,})

Kotation (35)

16, D(j, 3: G- (}s:})

17. Do,:H> (L)

D latiol (%,-6)
ﬁ\]afhof’\ )

18. Do, w12 t&:ﬁ)

D\\ouho/\ (_3-):_‘1 | | g ;I.a

e A
SO i 2b T e _
ok -Af .

. -BF
oL
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Unit 2 Review - Vocabulary

, _ : , i atio
Describe each theorem, definition or postulate. Draw a diagram to represent each, and write an equation

that is used to solve for values usin

that theorem, definition or postulate.

Definition of Midpoint

Segment Addition Postulate Angle Addition Postulate
Deseription Description Description
Diagram Diagram Diagram
= — = ) AN ¥ f > II o
' £
Equation _ Equation . Equation _
ABtRC= AcC M2 ABPAM<BRC=m 2R C ’4,8——3 L. [
Definition of Angle Bisector Vertical Angle Theorem Definition of Supplementary £ s
Description Description Description
Diagram A ) Diagram y/ Diagram ~—
N R‘\“ E‘m ,P,.f—‘:“"/\f /\
@ - (> < =~
- it o T . \\ A— B C
{ e ¥
C_ ( o] L} £
Equation __, ) Equation VR P E i
rie ALDZM<DBC | ™R ALDzrma CF L R0 dme pR( = /80 |

Use the given diagram to write an equation and solve for the value of x.

1. 0Cisthe bisector of £ BOD.

mZBOC= 9x+3andm~2DOC=8x + 7

X2 = §x47

2. Ois the midpoint of FC
FO=3x+6and OC=5x-4

IXth=SX-4
2X= |0

4. EB=6x-8, 0E=

HX-2+[rZbX-4
Uxd1o =4X-4

3.
and m<FOD

X

4x-2

3

5 MZEOA =13x and m ZA

[3XtX+l2 - [80
4X= |45

M
Q —
C
E
=6X + 11

72 = [ x|
X7 6X41)
Xakon

=X+12

" F

m<£FOE = 3x- 1, m ZEQD = 72°
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Geoaety Fall 2015 Per: Name:

i\ Unit 3 Review — Proofs & Reasons “

C
\ise the diagram to identify a reason that justifies each statement. b D
L AF+FE=AE __5€9, Add, Post.
2. mZBFC+mZCFE = m £ BFE Afleyie AdA. FosH. « F E
3. m<AFB + m £ BFE =180° Pe. 14 o ,(Ul)lj 4-J A '
4. UF F is the midpoint of AE, then AF = EF. ~ O{ mlclL[_ﬂf

[
5. If FDblsects £ CFE, then m £ CFD = m £ DFE. k)-(‘ 'f: f‘*"F - tf"? ¢ ’J;C?L_
6. If #BFCand ZCFD are complementary, thenm 2 BFC + m £ CFD = 90°. D«':v‘ “0’( CO”‘TP »” J

Identify the property, postulate, definition, or theorem that justifies each statement.

7. HmZA+msZB=180"andmZC+m«D=180". j“--b_S'}' { [OP'
Thenm ZA+mZB=m2C+mZD. g ik 2
8. IfAB = CD and EF = GH, then AB + EF = CD + GH. ({,—};o/] P/C’_P*
9. IfmAA+m/_’B=m£C+mz£B,then-mzfA=méC. -)Uk LrH” F/’OP-'
10. IfMQ = MP + PQ and MFP + PQ = RS, then MQ = RS. TVensitive Pfoﬁ
Proof1: Q
Given: MP =NQ P
Prove: MN = PQ N
Stalement M Reason
Giv-e N

=
i
Z
o
Sl
.
!rﬁ—~
L)
M}-‘-

2'- ‘. Reflexive
3. MP= MM ______________ ~ 3. .B-e_f}, .4;{;1 FO}’;L :

NQ=____ ’x.u f) —
L ,\Pz ﬂ TP | & _Subst,
" ] - s Subtracdior]
Proof 2: /ﬂ j
Given: < 1and /5 are supplementary;

Z3and £5are ;uplpiemc:vnta!‘}’; - L7
Prove: mZi1=m £3 3 2
Statement Reason

1. Z1iand Z 5 are supplementary: 1. (3; V-Q, f\

Z3and £5are su])plementaryifg D 1( ‘F \
o _Me|tMme ST 2100 .. tet, of- ¢ £

Me dAtme 5— |80 Ump' =
3. mZl+mZ5=mZs3+m £5 3. _S'-&LJ‘]"'*‘L«")L[@(] ffop,
4 AL E PS5 4 Reflex ve
5 .. Me|emMmL’ 5. __Subilaction Prop.
4
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Unit 4T{eview — Parallel Lines j‘

! Alternate Interior s

Corresponding Zs

Same-Side Interior £ 8

When parallel lines are cut by a
t transversal, alternate interior angles

When parallel lines are cut by a

When parallel lines are cut by a
transversal, same-side interior

are transversal, con:g@:)nding angles are angles are
«_a:-_ B _jqpﬂ}(_-“. f’}r"/f'{ﬂ4/
| S A

t .

Equation and Solution

Sx+90 =150
ThZYX SN=FO
| =X X158

Determine the missing angle measure for each of the following angles. Justify your answer.

/: - 95°/f

‘ Eguation and Soluton

] S
2X=9L, X =2

"
)

\ 4

|

<+ * 3
- ﬁBz" £x+ 6° lsx
v .

Equation and Solution

82:-4x4L

1. Ifms1= 115°,thenm/_’2=_’ I.thecauseif - [ :‘..*I , /c d
Lol [ angles are =) . : . L 2A
- « (.. 3/4 5
2. IfmZ5=70°,thenm 28 =_ { U becauseif i &=,
\ Bpgron,
oA ’4’ ’ } 2 s ar -
l | N f‘ ang;le% are - ; ; 6 -/8 b
3. Ifms4=120°",thenm £5= 3L because Sl | B / /
S-S In4, _

¢ 5ol :/M i':r}
.anglesare _ .2 4 #77 .
] i

Using the diagram and the given information, decide if there are parallel lines. If there are, state the
lines/segments that must be parallel and explain the reason why. If there are no parallel lines, write ‘no
o] lines’ and explain the reason why.,
paralle] lines’ a p 1 3 \19 o, — I _
2 ) /‘rrJ I Fi
. 2 ! ea “_ 1 i
2 &d =7 aye

Dy

5. mé4=ms6 yﬁj ; %” EF

Explain: _?ELJM%_) ‘{L/C & AT af d . /4' +
Tot. <8 are = then the lines are //
0. m£2=ms5+m6 _N_O_

Explain: TL\e-ry CJU(-Q -5_5 Iﬂ"f: 415 )
rust be Supp. ) nof = ,°
Same line ore 4

4. mL3=msy
Lxplain: pecau; -2,

B Le) H\{g

Y
.
s ] )

7. mML8 =90% mL9 = 90°

Explain: 2~ | gL@_,i_.J_;_ﬂ’P 1 h'ﬁ.
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Unit 5 Review — Congruent Triangles

e

Mark your diagram with any other known congruent pair(s). Identify the postullate or theorem that proves

triangles congruent by writing the letters in the boxes on the left (i.e. S, A, S).
Late the three congruent pairs of sides or angles that justify the triangles are congruent.

State the triangle congruence.

1
S

]
.

A )
. / L = L4 ! KR = <f

t’ 1 fjrj-d-’-ffy = L) e . J IL;:‘,ITH'__
<<< D !sﬁ{ Bz 2pi|d ADAFIEEQLH_(D
\ L W e 2 Y A e I — =7
S1AC= Ac S dp =16
aasc=a AN C ¢ % AEFI = A GH“I

@]

1

' ‘ ‘ M oLl
A l<Nm= <kTl - [OF 2 @

ANMJ = A FL0) R Q AorQ=n QQ.F

Mark all given and known congraent parts.
If the triangles are congruent, state the postulate or theorem that proves congruence.

5. AB //CD 6. £LB=/C - AB = CD
A .\ B D
/
D > &

SAS
10. Ebisggsﬁ
AB =DE

Not
8. B is the midpoint of AC
AC L DB

D

(5'BAJ1 C




Unit 6 Review — Quadrilaterals ll

15} in the following flow chart by stating the properties of each.
Quadnlateral

H-Sid= Jfgﬂﬁﬁ—'

oid
Parallelogram / Trapez !

> paits ot/ ofp. Side s _,E_J,af_.#_élfz——

!’)axrfJQ‘ = -‘fh_“'*
— il ot = CH?

bl 6{(‘ O{lﬂ’j é‘.
‘Z o \ Rhombus

ftj-"glcfnde,s H4 = Sides
DC\“JOVU?{{‘ sl D;a(}ona/J are. —l—

blajbﬂn(! r“r(f* - _5
\A /

Square

H= sides /4 f/rH»c‘-J

Match each shape name to the properties it has. Answers will be repeated.

[A] parallelogram B] rectangle [C] rhombus [D] square [E] trapezoid
1. opposite sides are congruent 6. " __ diagonals are bisected
2. opposite angles are congruent ( angles are bisected
3. diagonals are congruent 8 [] - all angles are right angles
4. all sides and angles are congruent ; £ ;;__ opposite sides are parallel
5. < diagonals are perpendicuiar 10. ___@.__.__ not a parallelogram

Solve for the missing lengths or angle measures. Fxplain where your answers came from.
53

11 J in-"u 13.
S 14 ~_2a+6
17 65 4b-3 3a +x \1 -9 /‘N
6S v los” v T

6

. -]
R"i’/’ _\, F} , }{): 3b-4
LsA Y=40 >0 .Sﬂ‘k a. "( ’u:&ft:'!,f: ipﬂ‘éiw -,
‘J’ Hh-22 los4b= 1§0 bﬁ‘? : ) ezt
ibirby bz b- 75 Sb- ¢ 2 1oy
‘ 2b=18) b

i because __zo_m/ a= L because% 1 becaube ” jlc'!e .

re = 5LJLJ are = afe =

b=_ . ~ because gﬁ‘“""‘ 7.5’ because (.onwu < J b= _éﬁbecause (]l “ !:z‘eJ

imL}_LQ are Sugp, el

_'--

é; because ﬁ a2 = jo5® L ;
4\) afe = i xe_| - rﬂbecij}l?e O - S _(i:f{')?et-)'ecais‘e _AJ_:}M{Q / S
= .2 . e _ ] ==
y=_£3 because We Na\/e y=_ 132 because 0« y=_28 becansedia na l-‘ are.

C D"‘\fl&"‘?-ﬂﬂ‘ll{i__f_l _afe i

2\ I e I and Im.ﬁ-&rq‘

o* U



